ECE 488
Exercise Questions
Q-1- Draw the Nyquist plot for the open loop transfer function 
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 and find the K values where the closed loop system is stable.
Q-2- A system is given by the state space representation
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a) Is this system controllable?

b) Is this system observable?

c) What are the eigenvalues of the system?
d) Is possible to carry the eigenvalues of this system using state feedback to the locations s1,2=-3? If so what are the state feedback system parameters to achieve this result?
Q-3- Find the phase margin of the open loop system 
[image: image4.emf]G(s)

- s(s+2)









G

(

s

)

=

5

s

(

s

+

2)


_1305781830.unknown

_1305807624.unknown

_1305810174.unknown

_1305781800.unknown

